4 c0S @ +c0s26 +cos46 +cos80 = X

cos® 6 +cos® 20 + cos® 46 + cos® 86

_1+cos26 N 1+cos40 N 1+cos86 N 1+cos166
2 2 2 2

=2+ %(cos 26 +c0s40 +c0s80 +c0s160)

=2+ %(cos 26 +cos40 +cos80 +cos0)

2c0s6cos260+2cosfcosdl +2cosOcos86 +2cos26cosdl +2cos260cos80 +2cos46cos8
=(c0s @ +c0s30)+(cos38 +c0s50) +(cos 76 +cos98) + (cos 20 + cos 66 ) + (cos 66 + cos100) + (cos 46 + cos126)

=(cos@+c0s30)+(cos1460 +cos50) + (cos 78 +cos96) + (cos 20 + cos 66 ) + (cos110 +cos108) + (cos 460 + cos126)
=—(cos0+cos86 +cos136 + c0s156 + c0s166)

=—(1+c0s80 + 0546 + 0526 +c0s H)
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